
CS 371N Lecture 15
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Announcements
- All due in a week

- Midterm due next Thurs

- OPTIONAL : Independent FP proposals due
after midterm

Reay POS tagging
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There are constraints on what makes
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② Is there a higher - scoring tag
sequence for
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fHMMs
Hums model Pty ,I )

They are not good generative models of
text

what we use them for is Ply- II)
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What this means :
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Viterbiltlgorithm
Define V ; as the chart

i is index from 1 to n

Ii is a tag in T

n ✗ IT 1 matrix

4- = log prob of the best sequence
of tags ending

in y~ at index i

Vi they mix can fish vz ( N)
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Initial emission initial
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Stop

- 6 ⇒ -8 w/ stop

Ypres =V

Sequence : NVN log P = -7

Markov property allowed us to do this

efficiently !



Paramcterf-stimats.ms
oppose we have labeled data
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Transition prob ( N → v) =
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⇐ English Penn Treebank

44 tags
Assign each word its most frequent
tag = 90% ace

.

Trigram Hmm tagger: 95%

BERT: 97.5%


